SECOND TERM GLOBAL TEST
4° ESO

Exercise 1: (1 pto) Find the general equation of the straight line that goes through the points P{E,—E]
and Q[B,4] Ox—5y—52=0

Exercise 2: (2 ptos) Find the domain of the following functions:

2

8) £ W% Dom f =(~0,2) (3, +%)
b) f(x)%;g Dom f =% —{-3/7}
0 £ =5 — Dom f =[2.5) (5, +%)

Exercise 3: (2 ptos) Work out:

a}ﬁmx‘—fx+1ﬂ:—_3
=1 x -4 4

b) lim x_3x9—4x _-1
x> 3x-5 3

c) Find the horizontal and vertical asymptotes of the function f(x) =

9x-8 HA| y=0
x*—16 AV]| x=14
log, 78125 —log, 3125 _2

log,5+log.25 3

Exercise 4: (1 pto) Work out

Exercise 5: (2 ptos)
¥ -2x-3  —3«x<3

«j'x—3 x=3

b) With a dotted line or a different color plot the graph of | f (x)l

1
\

\

a) Sketch the graph of the piecewise function fi{x)= {

W/
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Exercise 6: (1.25 ptos) If siner =0.37 find the value of the other five trigonometric functions and o

cosax =093 tana=04 seca =1.08 cscar =27 cotr =251 a=2142"56"

Exercise 7: (0.75 ptos) Find the values of x and X

xr=169% cm
k=798 cm

16 cm
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